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(1) & a=5,b=-3, LUTHFRERXERN true HI2:
A.a>08&&b>0 B.a<0||b<0
C.a== D.a+b=2

2 ATFBaHERE?

#include<iostream>
int main () {
int x = 10, y = 5;
if(x > 8 && y <3)
std: :cout << "A";
else if(x %2 == 0)
std: :cout << "B";
else

std: :cout << "C";

A.A B.B C.C D. it

(3) ATIBmLERE?

#include <iostream>
int main () {
int a=7, b=4;

std::cout <<(a > b ? a : b);
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A7 B4 Cc1 DO

(4) & score=85 , LATAEERELE?

#include<iostream>
int main() {

int score = 85;

if (score >= 90)
std::cout << "A”;
else if (score >= 80)
std::cout << "B”;
else if (score >= 70)
std::cout << “C”;
else

std::cout << ”“D”;

return 0;

A.A B.B C.C D.D

(5) LATFEEH, BEriRSHA54?

#include <iostream>
int main () {
int n = 15;

if( )

std: :cout << "R 5 KIfE¥;

return O;

AnN%5==0 B.n/5 ==
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c.n*5== D.n+5==20

(6) LATUiBRIMHLEERE?

#include <iostream>
int main () {
for(int i = 1; i <= 3; i++){

std::cout < i <« " ";

A12 B.123 c.012 D.321

(7) ATFREBaHHERE?

#include <iostream>
int main() {
int sum = 0;
for (int i = 10; i >=1; i -= 2) {
sum += 1i;
}
std: :cout << sum << std::endl;

return O;

A. 30 B. 25 c. 20 D. 15

(8) LATFEE, @EHFTTSIR?

#include <iostream>
using namespace std;
int main() {

int i = 0;

while (i < 5) {

i++;
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}

}
A. 4 B.5 C.6 D. FoIRTEIR

(LATRiBrMGLHLERE?

#include <iostream>int main() {
int j = 0;
do {
j++;
} while (j < 0);

std: :cout << j;

A0 B. 1 C.2 D. Fhait

(10) IATHREH, HEGFIESHARME?

#include <iostream>int main () {
for (int i = 1; i <= 10; i++) {
if ( ) continue;
std::cout <K i << " ";
}
Y/ BEREH

Ai%2==
B.i%2!=0

C.i/2==

(11) TR, SZENEERI?
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A. 2var

B. var-name
C. var
D. return
(12) C++ REERFSHRIRIA BRE?
A.C B .Cpp C .exe D .txt

(13) ITFEBRYEHERE?

#include <iostream>
int main () {
int a = 5;

std::cout << a++ << " " KL ++a;

A.56 B.57 C.67 D.66
(14) LAT%TF switch ig@adiEik, EMRIIZE?

A. switch BISRHRIEXFILIRIZ RS

B. case [FRYEWAIE—

C. default U MHERE

D. break iEaI LA

(15) TR BamEERE?

#include <iostream>int main () {

int x = 3;

std::cout << (x > 2 ? "Yes" : "No");
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(16) LAT&IRA, RRHREBPXEFRE?

A. int

B. float

C. bool

D. char

(17) AFXFESAER, R

A. SRR

B. BERYLALIEAFHX

C. TWERMIBRHEPBENE

D. BEBRXHKIES

(18) PATHEAEHERE?

#include<iostream>
int main() {
int a = 10;
double b = 3.5;

std: :cout << a + b;
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return O;

—

A 13 B.13.5 C.10 D. 3.5

(19) TR, EE yHER?

#include<iostream>
int main () {
int x = 5;
inty =x/ 2;

std: :cout << y;

A 2 B. 2.5 C.3 D. 2.0
(20) LAk, IERIEEEXE?

A. const int x = 5.5;

B. const float Pl = 3.14;

C. const string = "Hello";

D. const double 1.5;

(21) LATEER, R RMIBENTAIED?

#include<iostream>
using namespace std;
int main () {

int age;

>> age;
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return O;

—

A.cin B.cout C.scanf D. printf

(22) LATREBmLHEERE?

#include <iostream>
int main () {

std::cout << "3 + 4 = " <K< 3 + 4;

A. 3+4=7

B. 7=3+4

C. 3+4

D. 7

(23) UTFRBambERE?

#include<iostream>
int main () {
int a =5, b = 3;

std::cout <K a << " ¥ "KLK bK< " ="K a* b;

A. 5% 3=15

B. 15

C. ax b=15

D. 5315

(24) UTFRBamEERE?
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#include <iostream>
int main () {

std: :cout << "Hello\nWorld";

A. HelloWorld
B. Hello World
c. Hello\nWorld
D. Hello

World

(25) AT, RNt RIE?

#include <iostream>
int main () {
int x;

< "ERA—E:

A. cin
B. cout
c. scanf

D. printf

(26) LITRIBHE—PMAEEPELE, MERLRIBNMTAFM?

#include<iostream>
int main () {
int x;

std: :cin >> x;
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for(int i = 1; i <= x; i++){
if( ) {

std: :cout <<"RFEFE";

break;
}
}
return O;
}
Ail*i==Xx B.i+i==X
c.i/2==x D.i % x ==0

27) ARSI ERE?

#include<iostream>

int main () {

int sum =0;

for(int i = 1; i <= 5; i++){
sum += i1 * i;

}

std: :cout << sum;

A. 15 B. 30 C.55 D.100

(28) LATUEBRIERZE?

#include<iostream>
int main() {
int n, sum =0;
std::cin >> n;
while(n > 0){
sum += n % 10;

n /= 10;
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std: :cout << sum;

A. itE n BB

B. it& n HFuEFZH

C. Fltr n EFHERE

D. R4 n BIZUE=

29) AT ERE?

#include <iostream>
int main() {
int a = 153;

int b a / 100;

int s a/ 10 % 10;
int g = a % 10;
std::cout << b + s + g;

return O;

A 9 B.8 C.7 D.6

(30) AU — M AR B HRE, B MIBENT AR

#include <iostream>
int main () {
int n;
std::cin >> n;
bool isPrime = true;
for(int i = 2; i1 < n; i++){

if( ) {
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isPrime = false;

break;
}
}
return 0;
}
AnN%i==0 BnNn%il=0
C.ion==0 D.i*i==n

(1) BTF&IFELEAA fun(5) RBREIEZS?

int fun(int n) {
if(n == 0) return 1;

return n * fun(n - 1) ;

A5 B.15 c.120 D.24

(32) MTFRBambERE?

#include <iostream>
int func(int x) {
if (x == 1) return 2;
return func(x - 1) + x;
}
int main() {

std: :cout << func (4) ;

A9 B.10 c.11 D.12

(33) AFXFiEAnTHEiR, IEMRRIRE?

A. BRNRHEAESENMED
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34) AT ERE?

int f£(int a, int b) {
if (b == 0) return a;
return £(b, a % b);
}
int main() {

std: :cout << £(12, 18);

A 6 B.12 c.18 D. 36

(35) KATFEIIRLIAIERRE

int fun(int n) {
if(n <= 1) return n;

return fun(n - 1) + fun(n - 2);

A. it EE

B. it R3EIRARIELS

C. i8N

D. FIERRES
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